BID RESULTS FOR RM-98724 TREE TRIMMING AND REMOVAL SERVICES

PARKWAY-NORTH REGION (MP'S 141.5-172.3)

ITEM	QTY	UNIT	DESCRIPTION	UNIT	TOTAL
				PRICE	DOLLAR
					AMOUNT
1	488	CREW HOURS	TREE TRIMMING CREW-3 MAN	\$247.00	\$120,536.00
2	24	CREW HOURS	EMERGENCY CALL OUT TREE CREW-3 MAN	\$337.00	\$8,088.00
3	56	HOURS	LOG TRUCK	\$119.00	\$6,664.00
4	40	HOURS	CRANE	\$193.00	\$7,720.00

TOTAL OF LINES 1 THROUGH 4 <u>\$ 143,008.00</u>

THE LINE ITEMS BELOW WILL NOT BE FACTORED INTO THE DECISION FOR AWARD. THE AWARD WILL BE DETERMINED BY THE LOWEST RESPONSIVE AND RESPONSIBLE BIDDER FOR LINE ITEMS 1 THROUGH 4.

40	HOURS	STUMP GRINDING	\$119.00	\$4,760.00
16	HOURS	SKID STEER	\$119.00	\$1,904.00
16	HOURS	TRACK CARRIER WITH FECON BRUSH CUTTER	\$249.00	\$3,984.00

BID SHEET

ITEM	QTY	UNIT	DESCRIPTION	UNIT PRICE	TOTAL DOLLAR
					AMOUNT
1	496	CREW HOURS	TREE TRIMMING CREW-3 MAN	\$275.00	\$136,400.00
2	24	CREW HOURS	EMERGENCY CALL OUT TREE CREW-3 MAN	\$275.00	\$6,600.00
3	64	HOURS	LOG TRUCK	\$100.00	\$6,400.00
4	40	HOURS	CRANE	\$150.00	\$6,000.00

PARKWAY-CENTRAL REGION (MP'S 141.5-106.0)

TOTAL OF LINES 1 THROUGH 4 \$ <u>155,400.00</u>

THE LINE ITEMS BELOW WILL NOT BE FACTORED INTO THE DECISION FOR AWARD. THE AWARD WILL BE DETERMINED BY THE LOWEST RESPONSIVE AND RESPONSIBLE BIDDER FOR LINE ITEMS 1 THROUGH 4.

24	HOURS	STUMP GRINDING	\$75.00	\$1,800.00
24	HOURS	SKID STEER	\$100.00	\$2,400.00
8	HOURS	TRACK CARRIER WITH FECON BRUSH CUTTER	\$400.00	\$3,200.00

BID SHEET

PARKWAY-SOUTH REGION (MP'S 106.0-0.0)

ITEM	QTY	UNIT	DESCRIPTION	UNIT PRICE	TOTAL DOLLAR
					AMOUNT
1	465	CREW HOURS	TREE TRIMMING CREW-3 MAN	\$335.00	\$155,775.00
2	24	CREW HOURS	EMERGENCY CALL OUT TREE CREW-3 MAN	\$335.00	\$8,040.00
3	60	HOURS	LOG TRUCK	\$100.00	\$6,000.00
4	48	HOURS	CRANE	\$150.00	\$7,200.00

TOTAL OF LINES 1 THROUGH 4 \$ <u>177,015.00</u>

THE LINE ITEMS BELOW WILL NOT BE FACTORED INTO THE DECISION FOR AWARD. THE AWARD WILL BE DETERMINED BY THE LOWEST RESPONSIVE AND RESPONSIBLE BIDDER FOR LINE ITEMS 1 THROUGH 4.

16	HOURS	STUMP GRINDING	\$75.00	\$1,200.00
16	HOURS	SKID STEER	\$100.00	\$1,600.00
8	HOURS	TRACK CARRIER WITH FECON BRUSH CUTTER	\$400.00	\$3,200.00

BID SHEET

TURNPIKE-SOUTHERN REGION (MP'S 0.0-67.2 AND PHMTE'S MP'S 0.0-6.0)

ITEM	QTY	UNIT	DESCRIPTION	UNIT PRICE	TOTAL DOLLAR AMOUNT
1	1,088	CREW HOURS	TREE TRIMMING CREW-3 MAN	\$335.00	\$364,480.00
2	48	CREW HOURS	EMERGENCY CALL OUT TREE CREW-3 MAN	\$335.00	\$16,080.00
3	136	HOURS	LOG TRUCK	\$125.00	\$17,000.00
4	84	HOURS	CRANE	\$175.00	\$14,700.00

TOTAL OF LINES 1 THROUGH 4 \$ <u>412,260.00</u>

THE LINE ITEMS BELOW WILL NOT BE FACTORED INTO THE DECISION FOR AWARD. THE AWARD WILL BE DETERMINED BY THE LOWEST RESPONSIVE AND RESPONSIBLE BIDDER FOR LINE ITEMS 1 THROUGH 4.

80	HOURS	STUMP GRINDING	\$75.00	\$6,000.00
48	HOURS	SKID STEER	\$100.00	\$4,800.00
16	HOURS	TRACK CARRIER WITH FECON BRUSH CUTTER	\$400.00	\$6,400.00

BID SHEET TURNPIKE-NORTHERN REGION (MP'S 67.2-122 AND HCNBE MP'S 0.0-8.0

ITEM	QTY	UNIT	DESCRIPTION	UNIT	TOTAL		
				PRICE	DOLLAR		
					AMOUNT		
1	736	CREW HOURS	TREE TRIMMING CREW-3 MAN	\$247.00	\$181,792.00		
2	32	CREW HOURS	EMERGENCY CALL OUT TREE CREW-3 MAN	\$337.00	\$10,784.00		
3	80	HOURS	LOG TRUCK	\$119.00	\$9,520.00		
4	72	HOURS	CRANE	\$193.00	\$13,896.00		

TOTAL OF LINES 1 THROUGH 4 \$ <u>215,992.00</u>

THE LINE ITEMS BELOW WILL NOT BE FACTORED INTO THE DECISION FOR AWARD. THE AWARD WILL BE DETERMINED BY THE LOWEST RESPONSIVE AND RESPONSIBLE BIDDER FOR LINE ITEMS 1 THROUGH 4.

48	HOURS	STUMP GRINDING	\$119.00	\$5,712.00
32	HOURS	SKID STEER	\$119.00	\$3,808.00
16	HOURS	TRACK CARRIER WITH FECON BRUSH CUTTER	\$249.00	\$3,984.00